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| sentence. Then mark the correct choice on your answer sheet.

— e Eor e e s —" L sl e

1- Itis not possible for human beings to precisely the time of death.,
1} enumerate 2) elicit 3) invoke 4) pinpoint
2- Educational standards are year by year becaunse of a lack of funds.
1) overlapping 2) preceding 3) degenerating 4) restricting
3- Your successis a to all your hard work.
1) partnership 2) testimony 3) requisite 4) compliment
4-  Statistical can make it difficult to compare data from one yearto the next.
1) anomalies 2) versions 3) simulations 4) proportions
3 These chemicals are to the environment.
1) contrastive 2) exhaustive 3) detrimental 4) forthcoming
6-  After doing this project, we will a new project later this year.
1) break up 2) bear on 3) stand out 4) embark on
7-  The soil in this part of the world is not rich enongh to a large population.
1) sustain 2) survive 3) suspend 4) submit
8- He felt that graduoating from the university was a real in his life.
I) milestone 2) enormity 3) coherence 4) orientation
9-  They purchased a(n) of 3,000 shares in the company.
1) revenue 2) welfare 3) aggregate 4) quantification
10- Do you think that these higher-than-average temperatures are to global warming?
1) expansive 2) attributable 3) convertible 4) substitutional

§ PART B: Grammar

| Directions: Read the following passage and decide whick choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

et e —— Tr— B

Are some people bomn clever and others born stupid? Or is intelligence developed by our

environment and our experience? (11) —-—-—-, the answer to both of these questions is yes. To
some extent, our intelligence is given us at birth, and (12) ----——-- special education can make a
genius (13) --= & child bom with low intelligence. On the other hand, a child who lives in a
boring environment will develop his intelligence (14) -—--—- one who lives in rich and varied
surroundings. Thus, the limits of a person’s intelligence are fixed at birth, but (15) --———- he
reaches those limits will depend on his environment. This view, now held by most experts, can be
supported ima mumber of ways.

11- 1) Too strangely 2) Too strange 3) Strangely enough __ 4) Strange enough

12- 1) amount of no 2) no amount of 3) there is amount of no 4) there is not amount of

13- 1) outof 2) to be 3} of 4}in order to be

14- 1) so that 2) if 3) rather than 4) less than

15- 1) what 2) whether 3) how long 4) as soon as
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Raw mataria]s, recycled process materials, and waste by-products are treated by caleination,
reduction, or roasting in the preparation of materials for a wide variety of manufacturing processes
in the chemical and metallurgical industries. A feature common to calcination, reduction, and
roasting is that they are pas-solid reactions ofien involving porous reaction products. The
calcination is thermal decomposition of substances such as hydroxides, carbonates, nitrates, and
sulfates to metal oxides; there is also the reduction calcination as in the thermal decomposition of
phosphates, sulfates, and carbonates by carbon. The physical chemistry of reduction discussed here
concerns the gaseous reduction of iron oxides. The oxidation of sulfide ore concentrates to metal
oxides or sulfates constitutes the subject of roasting. In all these processes, the rate of the reaction is

much affected by the structure of the porous reaction product; sintering that occurs as the reaction
progresses may have a decisive influence on the pore structure.

Which feature is common to calcination, reduction and roasting processes?

1) porous reactants. 2) Gas-solid reactions.

3) Chemical and metallurgical industries. 4) A wide variety of manufacturing processes.
Which material may be used as a reducing agent in the reduction calcination of sulphates?
1) Carbon 2) Carbonates

3) Thermal 4) Phosphates sulphates and carbonates
What might happen if a sulpbide ore were oxidized?

1) It could reduce concentrates. 2) It might form a sulphate.

3) The concentrate might roast an oxide. 4) It would constitute the subject of roasting.
‘Which of the following might have a profound effect on how fast the reaction proceeds?

1) The rate of the reaction. 2} The decisive influence.

3) The occurs due to sintering. 4) Structure of the porous product layer.
The term “thermal decomposition™ implies that the reaction is:

1) Spontaneous 2) Endothermic 3) Autogenous 4) Adiabatic

Read the following article and choose the correct sentence related to this article.

“When two metals are only partially soluble in each other in the solid state, a euntectic may
form consisting of alternate layers of two solid solution. In some cases, a entectic may consist
of altemate layers of a solid solution and -an intermetallic compound.”

1) A eutectic is usually a multilayer system of two solid solution.

2) In a ewtectic, one layer is formed instead of another layer.

3) A eutectic always consists of an intermetallic compound.

4) A eutectic indicates full solubility of two metals in each other.

What does the following sentence mean? “Above a certain crifical temperature long-range
orderis destroyed.”

1) There is a temperature range at which a material is destroyed.

2) The temperature range for long-range order is high.

3) Long-range order exists in a rang of temperatures, known as critical temperatures.

4) Long-range order exists-only under thercondition that the temperature is lower than a critical
value.

Choose the correct sentence:

1) A Belgian chemist has developed bakelite in 1907.

2) Bakelite developed by a Belgian chemist in 1907,

3) A Belgian chemist was been developing bakelite in 1907,

4) Bakelite wagdeyelopsd by a Bslgiag shsnist A0y et ¢ ,L1 o 5T
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Mark the correct sentence:

1) Advantages of non-cyanide bath is that they are not toxic.

2) Electroplating zinc from non-cyanide baths is advantages.

3) Electroplating zinc from non=cyanide baths is advantageous.

4) Advantageous of non-cyanide baths is their non-polluting character.

Choose the correct word to complete the following senfence. “Coining is an example of closed

forging.”

1) die 2) dye 3) dying 4) died

Choose the correct words to complete the following: “ zinc coating on mild steel is
known as galvanizing.”

1) Hot-deep 2) Hot-dip 3) hot-deeping 4) hot-dipping
Choose the correct term for this sentence: “Properties of are important parameters in
the performance of a point.”

1) Die 2) Dye 3) Dyes 4) Dies

In blast furnace, a blast of hot air is blown into the bottom of the furnace through the tuyeres.

These tuyeres are placed around the of the furnace.

1) topography 2) circulation 3) perpendicular 4) periphery
Corrosion may be defined as reduction of oxides in ——,

1) coalescence 2) sacrifice 3) reverse 4) faction

means the conversion of a substance from a liquid or solid state to a gaseous or vapor
state by the application of heat without any chemical reactions.
1) Penetration 2) Ventilation 3) Volatilization 4) Decomposition
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